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1. Match the following poems in column A with the poets in column B 
 Column A                                         Column B 
 a) Punishment in kindergarten -- 1. D.H.Lawrence 
 b) Earth    -- 2. Stephen Vincent Benet 
 c) The flying wonder   -- 3. Khalil Gibran                                 
 d) Snake    -- 4. Kamala das 
 a) 4 3 1 2  b) 4 3 2 1     c) 1 2 3 4     d) 4 1 2 3 
 
2. Choose the right passive voice of the given sentence: 
 “Please bring the pen” 
 a) Let my pen be brought    b) Let the pen be brought 
 c) Pen be brought     d) Bring the pen please 
 
3. Mention the poem in which these lines occur: 
 “God made heaven and earth for joy“ 
 a)No men are foreign    b) The Apology 
 c) The flying wonder    d) Laugh and be merry 
 
4. For how many days were they stranded at milam glacier ? 
 a) 2   b) 3   c) 4   d) 5 
 
5. Had I given an opportunity to contest, I _____definitely without doubt 
 a) Would win   b) Would have win    c) Might win d) would have won 
 
6. Hughie found some ____ coins and a sovereign in his pocket 
 a) Silver  b) Copper  c) Aluminium  d) Gold  
 



 

 

7. Choose the active voice from given options: 
 a) English is being spoken by me now 
 b) It was implemented by the administration 
 c) I am disappointed  
 d) He calculates the risk 
 
8. Who said this to whom ? 
 “There’s thrice thy money offer’d thee “ 
 a) Antonio says these words to shylock  
 b) Bassanio says these words to shylock 
 c) Portia says these words to shylock 
 d) Portia says these words to Duke  
 
9. Whose Autobiography/Biography is this ? 
 “A great poet, critic and dramatist from England. His important work include 
 The wasteland, The cocktail party and The confidential clerk.He received 
 Noble prize in 1948 for his contribution to modern poetry.” 
 a) T.S.Eliot  b) E.M.Foster  c) Oscar wilde d) Pearl S.Buck 
 
10. The number of students____less today due to heavy rain 
 a) is   b) are  c) were  d) was 
 
11. H.W.Longfellow was born in the year 
 a) 861   b) 1836  c) 1807  d) 1819 
 
12. After years went on , the giant grew very old and_____ 
 a) Mystic  b) Feeble  c) Majestic  d) Marvellous 
 
13. Find the Right phrase from the given options: 
 “If I knew it earlier, _______it soon” 
 a) I would have completed   b) Will complete 
 c) Would complete    d) Can complete 
 
14. Identify the Rhyme scheme: 
 “Be glad your nose is on your face, 
 Not pasted on some other place, 
 For if it were where it is not, 
 You might dislike your nose a lot” 
 a) aabb  b) abab  c) abba  d) bbaa 
 



 

 

15. Choose the right active voice of the given sentence: 
 “The children were beaten by him” 
 a) He beat the children   b) He was beating the children 
 c) He is beating the children  d) He beats the children 
 
16. Which nationality the story “How the camel got its hump” belong to ? 
 a) America  b) France  c) Canada  d) England 
 
17. In the senate house,the conspirators surround Caesar___ was the first to 
 stab him 
 a) Brutus  b) Casca  c) Cassius  d) Pompey 
 
18. Choose the right conjunctions from the given options: 
 “ ____ working very hard, he was unable to pass any exam” 
 a) Despite of  b) though c) despite d) No conjunction needed 
 
19. Who was Jessica ? 
 a) Shylock’s daughter  b) Wife of Lorenzoc) Portia’s maid d) Both A&B 
 
20. They_____working there from 2000 to 2012 
 a) Have been  b) Had been  c) was  d) are 
 
21. Mention the figure of speech: 
 “The world in gloom and splendour passes by” 
 a) Simile b) Metaphor  c) Oxymoron  d) Personification 
 
22. Malar was disturbed  when she heard that the principal had decided to 
 cut____ to build toilets 
 a) the peepal tree    b) the banyan tree 
 c) the neem tree    d) the mango tree 
 
23. What is the passive voice of the given sentence? 
 “I will be doing my work” 
 a) My work will be being done by me b) My work will being done by me 
 c) My work will done by me  d) None of these 
 
24.  Match the following poems in column A with the poets in column B 
       Column A         Column B 
 a) Nine gold medals  -- 1. Douglas Malloch 
 b) Be the Best   -- 2. Elizabeth Barrett browning 



 

 

 c) The cry of the children -- 3. Rudyard Kipling 
 d) Manliness   -- 4. David Roth 
 a) 4 1 2 3  b) 4 1 3 2  c) 1 4 3 2  d) 1 4 2 3 
 
25. How old is Brihadeeswarar temple ? 
 a) 1000 years  b) 1500 years  c) 2000 years  d) 2500 years 
 
 
26. The story “A Close Encounter” is written by_____ 
 a) Archibald Lampman    b) Rex Coker 
 c) Susannah Hickling     d) Tammy Ruggles 
 
27. Police ____investigating the case now 
 a) is   b) are  c) has been  d) none of these 
 
28. The story “Living Amicably” is taken from____ 
 a) Autobiography of A.P.J.Abdul Kalam 
 b) Biography of Helen Keller 
 c) Adopted from a short story by Oscar wilde 
 d)Gopala Krishna Gokhale’s speech 
 
29. He was so brilliant ___intelligent but lazy. 
 a) and   b) but   c) as well  d) yet 
 
30. Dr.Salim Ali centre for Ornithology and Natural History is situated in___ 
 a) Coimbatore b) Madurai  c) Bhopal  d) Kolkata 
 
31. Choose the passive voice of the given sentence: 
 “I will call him to say the most important matter” 
 a) The most important matter will be said to him by me 
 b) He will be called by me to say the most important matter 
 c) I will be called to say the important matter to him 
 d) He will be called to say the most important matter 
 
32. Mention the poem in which these lines occur: 
 “And kingdoms may forget their kings 
 And dogs forget their bites” 
 a) The flying wonder   b) A tiger in the zoo 
 c) Laugh and be merry   d) To India 
 



 

 

33. If I get a chance to meet him, I_____a few questions 
 a) could ask b) can ask  c) would ask  d) would have asked 
 
34. To which period the poet Annie Louisa Walker belong ? 
 a) Elizabeth Age    b) Romantic Era 
 c) Modern Age    d) Transcendetalism 
 
 
35. Raj along with Shyam___working on the project  
 a) are   b) is  c) have   d) were 
 
36. A women’s unit of Indian National Army was named as_____ 
 a) Rani of Jhansi Regiment    b) Kamala Nehru Regiment 
   c) Putlibai Regiment     d) Indira Regiment 
 
37. ”The comedy of errors” is a play written by_____ 
 a) William Wordsworth b) William Shakespeare c) H.W.Longfellow
 d)Pearl S.Buck 
 
38. Choose the right article from the given options: 
 “He is ______ honorable to his soul” 
 a) a  b) an  c) the  d) no  article 
 
39. Which nationality the poet Elizabeth barrett browning belongs to ? 
 a) America  b) Britain  c) Lebanon    d) France 
 
40. During shakespeare’s time people believed that the___ influenced men’s 
 character 
 a) Sun   b) Moon  c) Stars  d) Planets 
 
41. By 12 noon tomorrow I_____the work  
 a) Will finish     b) Would finish 
 c) Will have finished    d) Would have finished 
 
42. Karl paulnack also serves as a ___ and conductor of the contemporary Opera 
 Lab 
 a) Director  b) Music director c) Artist  d) Producer 
 
 
 



 

 

43. Leo Tolstoy is the author of which short story ? 
 a) Caught sneezing    b) The refugee 
 c) Open Window    d) The wooden bowl 
 
44 It is really _____ unique idea 
 a) a   b) an   c) the   d) no article 
 
45. ”It is the star to every ward ’ring bark, 
 Whose worth’s unknown,although his height be shaken” 
 Which is the star to wandering bark ? 
 a) Tower  b) Light house  c) Pole star  d) Ship 
 
46. Mention the figure of speech: 
 “Harmonic cacophony to oblivious ears “ 
 a)Metaphor  b) Personification c) Onomatoepia d) Oxymoron 
 
47. Who among the following is the author of the short story “The face of Judas 
 Iscariot” ? 
 a) F.Joanna b) Anton Chekhov c) Saki  d) Bonnie Chamberlain 
 
48. Strike ___iron while it is hot 
 a) a  b) an  c) the  d) no article 
 
49. Identify the poem in which these lines occur : 
 “O listen ! For the vale profound “ 
 a) A Psalm of life b) The solitary reaper c) Earth d) Don’t quit 
 
50. Who was the first Indian Astronaut to go into the space ? 
 a) Kalpana Chawla    b) Sunitha Williams 
 c) Rakesh Sharma    d) None of these 
 
51. The prince of morocco chose the _____ casket 
 a) Gold b) silver  c) Lead  d) Copper  
 
52 It is ___most dramatic incident I have ever faced in my life 
 a) a  b) an  c) the  d) no article 
 
53. ”If you can dream it, you can do it”-quoted by ? 
 a) Albert Einstein b) Hellen keller c) Walt Disney d) James Kirkup 
 



 

 

54. What is the overall tone of the poem “Off to outer space tomorrow morning” 
 ? 
 a) Happy b) Sad  c) Indifference  d) None of these 
 
55. Choose the right tense: 
 “He ____the task before you came here” 
 a) Completed b) Had completed c) Has completed d) Was completing 
 
56. ”Child labour is a major social injustice” is the theme observed in the literary 
 work of____ 
 a) Our local team    b) Greedy Govind 
 c) The Model millionaire   d) The cry of children 
 
57. ___ year will come after this year and our life will go on as the same. 
 a) a  b) an  c) the  d) no article 
 
58. ”But raged as infantry, 
 And staring face to face “ 
 What is infantry ? 
 a) soldiers on foot    b) soldiers on elephant 
 c) soldiers on horse    d) none of these 
 
59. Match the author in column A with the short story in column B 
     Column A      Column B 
 a) O’Henry   -- 1. Refugee 
 b) Saki    -- 2. The last leaf 
 c) Pearl S.Buck  -- 3. The Necklace 
 d) Guy de Maupassant -- 4. Open Window                             
 a) 2 3 1 4  b) 2 4 1 3  c) 2 3 4 1  d) 2 4 3 1 
 
60. You won’t pass ___you study well 
 a) unless  b) until c) till   d) No conjunction needed 
   
61. Sang Swang is the folk dance of ____ state 
 a)Uttar Pradesh    b) Madhya Pradesh 
 c) Himachal Pradesh    d) Andhra Pradesh 
 
62. Choose the right preposition from given options: 
 “I am ___train now. I will call you later” 
 a) of  b) by  c) on  d) at 



 

 

 
63. Pangolin and the rat usually try to find interesting ways challenging each 
 other with new____ 
 a) games b) races  c) games and races d) none of these 
 
64. Which nationality does the poet Archibald Lampman belong to ? 
 a) Britain  b) America  c) Canada  d) France 
 
65. A wild cobra came out ___the hole under the tree 
 a) off   b) from  c) of   d) in 
66. Rabindranath Tagore’s drama in Bengali  
 a) The broken nest b) Fair faced c) The Sacrifice d) cross currents 
 
67. Mention the figure of speech: 
 “Through the coal-dark,underground” 
 a) Simile   b) Personification c) Metaphor  d) Oxymoron 
 
68. I would have reached there by any time ___6 to 7. 
 a) between b) from  c) at  d) in 
 
69. ”Someone was before me at my water trough” 
 Who is the second comer ? 
 a) Snake  b) The Poet  c) His friend  d) Both A&B 
 
70. Match the following poets in column A with the poems in column B 
     Column A                                               Column B 
 a)Discovery   -- 1. Emma Richards                                                                             
 b)My Native land  -- 2. Gayathri Pahlajani 
 c)To cook and eat  -- 3. H.L.Vivian Derozio 
 d)Going for water  -- 4. Robert frost                                        
 a) 2 3 1 4  b) 2 3 4 1  c) 3 2 4 1  d) 3 2 1 4 
 
71.  _____the peon rang the bell , then students jumped out of the class and ran 
 a) as b) as soon as   c) even though d) No conjunction needed 
 
72. ”It is simply service that measures success “ quoted by ___ 
 a) Rabindranath Tagore b) Mahatma Gandhi c) Dr.George  d) Moses 
 
73. I will focus ___that particular task and finish it before the deadline 
 a) at  b) on  c) in  d) towards 



 

 

 
74. Extract,Element,East- Mention the figure of speech 
 a) Anaphora b) Assonance  c) synecdoche  d) Alliteration 
 
75. In the story “Swept away” a small town of Lunel, Southern France is 
 damaged by _____ 
 a) Earthquake b) Volcano  c) Violent storm d) Tsunami 
 
76. The problems will be solved if police_______  in time 
 a) would come  b) come  c) came  d) had 
 
77. Identify the rhyme scheme: 
 “Life is queer with its twists and turns, 
 When care is pressing down a bit, 
 Rest,if you must-but don’t you quit, 
 As everyone of us sometime learns” 
 a) aabb  b) abab  c) abba  d) baba 
 
78.  ___my visit to that country I could meet some eminent personalities who 
 inspired a lot of people 
 a) on   b) in   c) at  d) over 
 
79. “The globe’s my world. The cloud’s my kind” – Migrant bird 
 In this poem bird feels that the clouds are its _______ 
 a) Relatives  b) Enemies  c) Friends  d) Home 
 
80 Though the politician made a powerful appeal____people were not 
 impressed. 
 a) yet  b) but  c) still   d) No conjunction needed 
 
81. Who issue the Deserted women certificate? 
 a) Village Administrative Officer    b) Revenue Inspector 
 c) Tahsildar       d) Revenue Divisional Officer 
 fztdhy; iftplg;gl;lth; rhd;W ,tuhy; toq;fg;gLfpwJ? 
 a) fpuhkeph;thf mYtyh;    b) tUtha; Ma;thsh; 
 c) tl;lhl;rpah;      d) Nfhl;lhl;rpah; 
 
82. Seats for mathematics, Physics and Biology in a school are in the ratio 5 : 7 : 
 8. There is a proposal   to increase these seats by 40%, 50% and 
 75% respectively. The ratio of increased seats will be 
 a) 2 : 3 : 4 b) 6 : 8 : 9  c) 6 : 7 : 8  d) None of these 



 

 

 xU gs;spapy; fzf;F> ,aw;gpay; kw;Wk; caphpay; Mfpa 
 ghlq;fSf;fhd ,lq;fs; 5:7:8 vd;w tpfpjj;jpy; mike;Js;sd. 
 ,g;ghlq;fSf;fhd ,lq;fis KiwNa 40% 50% kw;Wk;   
 75% mjpfg;gLj;Jtjw;F KbntLj;jhy; mg;ghlq;fSf;fhd 
 mjpfhpf;fg;gl;l ,lq;fs; ve;j    tpfpjj;jpy; ,Uf;Fk; ? 
 a) 2 : 3 : 4 b) 6 : 8 : 9 c) 6 : 7 : 8 d) ,tw;wpy; vJTkpy;iy 
 
83. Assertion: The 73rd Amendment Act is a significant landmark in the evolution 
 of grassroots   democratic institutions in the country. 
 Reason: The Act has brought the Panchayat Raj institutions under the 
 purview of justiciable part of the Constitution. 
 a) Both A and R true and R is the correct explanation of A. 
 b) Both A and R are true but R is not a correct explanation of A. 
 c) A is true but R is false. 
 d) A is false but R is true 
 $w;W (A) ekJ ehl;bd; kf;fshl;rp jj;Jtq;fSf;F mbj;jskhf 73-tJ 
   murpayikg;Gj; jpUj;jr;rl;lk; mike;Js;sJ 
 fhuzk; (R) : ,r;rl;lj;jpd; gb gQ;rhaj;J uh[; epWtdq;fs;   
   murpayikg;gpd; MSiff;Fs; nfhz;L tug;gl;ld. 
 a) $w;W (A) kw;Wk; fhuzk; (R) ,uz;Lk; rhpahdit. NkYk; fhuzk; 
 $w;Wf;fhd rhpahd tpsf;fk; MFk;. 
 b) $w;W (A) kw;Wk; fhuzk; (R) ,uz;Lk; rhpahdit. Mdhy; fhuzk; 
 $w;Wf;fhd rhpahd      tpsf;fk; my;y. 
 c) $w;W (A) rhpahdJ. Mdhy; fhuzk; (R) jtwhdJ 
 d) $w;W (A) jtwhdJ. Mdhy; fhuzk; (R) rhpahdJ 
 
84. Consider the following: 
 Assertion (A) : A planetorium is the universe brought in doors 
 Reason (R)    : A large bond of stars, gas and dust particles held together by  
   gravitational force is called Nebula  
 a) Both (A) and (R) are true, (R) is the correct explanation of (A) 
 b) (A) is true, (R) is false 
 c) (A) is false, (R) is true 
 d) Both (A) and (R) are true, (R) is not the correct explanation of (A) 
 $w;W (A) : Nfhsuq;fk; vd;gJ mz;lj;jpd; fjTfisj; jpwg;gjhf  
   cs;sJ. 
 fhuzk; (R) : el;rj;jpuq;fspd; $l;likg;G> fhw;W> J}rpj; Jfs;fs;  
   Mfpait GtpaPh;g;G tpirapdhy; ,ize;J neGyh vd  
   miof;fg;gLfpwJ. 
 a) $w;W (A) kw;Wk; fhuzk; (R) ,uz;Lk; rhpahdit. NkYk; (R) 
 fhuzk; (A) $w;Wf;fhd     rhpahd tpsf;fk; MFk;. 
 b) $w;W (A) rhpahdJ. Mdhy; fhuzk; (R) jtwhdJ 



 

 

 c) $w;W (A) jtwhdJ. Mdhy; fhuzk; (R) rhpahdJ 
 d) $w;W (A) kw;Wk; fhuzk; (R) ,uz;Lk; rhpahdit. Mdhy; fhuzk; 
 $w;Wf;fhd rhpahd tpsf;fk; my;y. 
 
85. Find out the Mismatch from the following : - 
 a) Tamilnadu Revenue Recovery Act - 1864. 
 b) Tamilnadu Land Encroachment Act - 1905 
 c) Regisration of Birth and Death Act - 1969 
 d) Tamilnadu Birth and Death registration rules- 1986 
 nghUe;jh ,izia fz;lwp 
 a) jkpo;ehL tUtha; tR+y; rl;lk; - 1864 
 b) jkpo;ehL Mf;ukzr;rl;lk; - 1905 (mj;JkPwy;) 
 c) gpwg;Gfs; kw;Wk; ,wg;Gfs; gjpTr; rl;lk; - 1969 
 d) jkpo;ehL gpwg;Gfs; kw;Wk; ,wg;Gfs; gjpT tpjpfs; - 1986 
 
86. Who was famously called ‘Andra Bhoja’ 
 a) Krishna Devaraya b) Harihara  c) Allesani Peddanna d) Tenali Ramakrishna 
 \Me;jpu Ngh[h| vd;W miof;fg;gl;lth; ahh;? 
 a) fpU~;z Njtuhah   b) `hp`uh 
 c) my;rhdp ngj;jz;zh   d) njdhyp uhkfpU~;zh 
 
 
87. Which of the following expenditure are ‘charged’ on the Consolidated Fund 
 of India? 
 a) Salaries and allowances of Chairman of Council 
 b) Salaries and allowances of Comptroller and Auditor-General. 
 c) Any sum required to satisfy any judgement of any arbitral tribunal. 
 d) Salaries and allowances of Deputy Speaker. 
 a) b and  c  b) a, b and c  c) a, b, c and d d) b and d 
 gpd;Fwpg;gplg;gl;Ls;s nrytpdq;fspy; vJ ,e;jpa njhFg;G epjpapy; 
 gw;W itf;fg;gLfpwJ? 
 a) mitj;jiyth;fspd; rk;gsk; kw;Wk; gbfs; 
 b) ,e;jpaj; jiyik fzf;fhshpd; rk;gsk; kw;Wk; gbfs; 
 c) ve;jnthU jPh;g;ghaj;jpd; jPh;g;Gfspd; kPjhd eltbf;iffspy; Vw;gLk; 
  nrytpdq;fs; 
 d) Jiz rghehafhpd; rk;gsk; kw;Wk; gbfs; 
 a) b kw;Wk; c b) a, b, kw;Wk; c c) a, b, c kw;Wk; d d) b kw;Wk; d 
 
88. Who among the following got his Indian Citizenship recently? 
 a) Soraya Sikander  b) Adnan Sami  c) Josh Mallihabadi 
 d) John Elia 
 fPo;fz;lth;fSs; rkPgj;jpy; ,e;jpa FbAhpikiag; ngw;wth; ahh;? 



 

 

 a) Nrhiuah rpf;fe;jh;    b) mjpdhd; rkP 
 c) N[h]; ky;ypfhgjp              d) [hd; vypah 
 
89. The reason of death occurred in home has been reported in 
 a) Form 3  b) Form 3A  c) Form 4  d) Form 4A 
 tPl;by; epfo;e;j ,wg;Gfspd; fhuzk; ve;j gbtj;jpy; ngwg;gl Ntz;Lk;? 
 a) gbtk; 3  b)gbtk; 3A  c) gbtk; 4  d) gbtk; 4A 
 
90. Match the following: 
            Awards    Recipient 
 a) Thiruvalluvar Award -- 1. Ponnusamy 
 b) Ambedkar Award  -- 2. V. R. Vengan 
 c) Anna Award   -- 3. V G. Santhosam 
 d) Periyar Award  -- 4. Parvatha Regina Pappa 
 a) 3 1 4 2  b) 4 1 3 2  c) 2 1 3 4   d) 1 3 4 2 
 nghUj;Jf: 
  tpUJ    tpUJ ngw;wth; 
 a) jpUts;Sth; tpUJ  -- 1. nghd;Drhkp 
 b) mk;Ngj;fhh; tpUJ -- 2. tp.Mh; ntq;fd; 
 c) mz;zh tpUJ    -- 3. tp.[p.re;Njhrk; 
 d) nghpahh; tpUJ    -- 4. gh;tjh nu[pdh ghg;gh 
 a) 3 1 4 2  b) 4 1 3 2  c) 2 1 3 4   d) 1 3 4 2 
 
91. Which of the following Kingdom didn’t appear in Later Vedic Period 
 a) Kosala  b) Kashi  c) Puru   d) Kuru
   
 gpd;tUtdtw;wpy; ve;j muR gpd; Ntj fhyj;jpy; Njhd;wtpy;iy. 
 a) Nfhryh  b) fhrp  c) GU  d) FU 
 
92. Farmers Conservation project was announced by the Chief Minister in 
 a) 2000  b) 2003  c) 2005  d) 2008 
 jkpof Kjyikr;rhpd; coth; ghJfhg;G jpl;lk; vg;NghJ 
 mwptpf;fg;gl;lJ? 
 a) 2000  b) 2003  c) 2005  d) 2008 
 
93. There are 264 girls and 408 boys in a school. There children are to be divided 
 into groups of equal number of boys and girls. The maximum  number 
 of boys or girls in each group will be 
 a) 11   b) 17   c) 24   d) 36 
 xU gs;spapy; 264 rpWkpfSk; 408 rpWth;fSk; cs;sdh; mth;fis 
 rpW rpW FOf;fshfTk;> mf;FOtpy; rkkhd mstpy; rpWth;> 
 rpWkpfspd; vz;zpf;if tUkhWk; mikf;fpd;wdh; vdpy; me;j 



 

 

 FOf;fspy; xt;nthU FOtpYk; mjpfg;gl;rkhf ,Uf;Fk;   
 rpWth; my;yJ rpWkpfspd; vz;zpf;if vt;tsT? 
 a) 11   b) 17   c) 24   d) 36 
 
94. The time bound to issue the Intercaste Marriage Certificate by the Tahsildar 
 is 
 a) within a week   b) within 15 days 
 c) within a month   d) within three months 
 fyg;Gj; jpUkzr; rhd;W vj;jid ehl;fSf;Fs; tl;lhl;rpauhy; 
 toq;fg;glNtz;Lk;? 
 a) xU thuj;jpw;Fs;  b) 15 ehl;fSf;Fs; 
 c) xU khjj;jpw;Fs;  d) 3 khjq;fSf;Fs; 
 
95. National Science Day is observed on 
 a) January 30  b) February 4  c) February 28 d) March 9 
 Njrpa mwptpay; jpdk; vd;W nfhz;lhlg;gLfpwJ? 
 a) [dthp 30  b) gpg;uthp - 4 c) gpg;uthp 28 d) khh;r; - 9 
 
96. Find the value of  
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97. Which of the following distinguishes the audit of the CAG from the audit 
 made by professional auditors? 
 a) Audit of Authority     b) Audit of Appropriation 
 c) Audit of Accountancy    d) Audit of Propriety 
 gpd;tUk; ve;j jFjp rhh;e;j jzpf;ifahsh;fspd; jzpf;ifia CAG 
 jzpf;if mwpf;if ngw;wpUf;fpwJ 
 a) jzpf;if mjpfhhp    b) KO fzf;F jzpf;if 
 c) fzf;fPl;L jzpf;if    d) nrhj;J jzpf;if 
 
98. Consider the following statements about planets and choose the correct 
 ones 
 I.   The planet which has maximum number of satellite – Earth 
 II.  The superior planets are – Mars, Jupiter, Saturn 
 III. The planets with maximum Albedo – Mercury, Venus 
 IV.  The planet which is close to the sun – Mercury 



 

 

 a) I, II and III only b) II, III and IV only     c) I, II, III and IV  d) II and IV only 
 fpufq;fisg; gw;wpa gpd;tUk; $w;Wf;fSs; rhpahdijf; fz;lwp 
 I. kpf mjpfkhd Jizf;Nfhs;fisg; ngw;w fpufk; -- g+kp 
 II. nghpa fpufq;fs; - nrt;tha;> tpahod;> rdp 
 III. jhd; ngWk; xsp kw;Wk; ntspapLk; xsp> ,tw;Wf;fpilNaahd 
 tpfpjk; (my;ngNlh)  mjpfkhf ,Uf;Fk; fpufq;fs; - Gjd;> nts;sp 
 IV. #hpaDf;F kpf mUfpy; ,Uf;Fk; fpufk; - Gjd; 
 a) I, II, III  b) II, III, IV  c) I, II, III, IV  d) II, IV 
 
99. Public Grievance Day is conducted on 
 a) First Monday of the month  b) First Wednesday of the month 
 c) Third Monday of the month  d) Second Wednesday of the month 
 nghJkf;fs; FiwjPh;f;Fk; ehs; mDrhpf;fg;gLtJ 
 a) khjj;jpd; Kjy; jpq;fs; fpoik  b) khjj;jpd;; Kjy; Gjd; fpoik 
 c) khjj;jpd; %d;whk; jpq;fs; fpoik  d) khjj;jpd; 2 Mk; Gjd; fpoik 
 
100. In the following question one term in the number series is wrong. Find out 
 the wrong term  
 480, 480, 24, 80, 20, 5 
 a) 240   b) 80   c) 20   d) 5 
 gpd;tUk; vz;fspd; njhlh; thpirapy; jtwhf cs;s vz;izf; 
 fz;Lgpb 
 480, 480, 24, 80, 20, 5 
 a) 240   b) 80   c) 20   d) 5 
 
101. Match the following:- 
 List –I (Schedule in the Constitution) List-II (Provisions) 
 a) Sixth Schedule     1. Administration and control of  
        scheduled areas and scheduled  
       tribes. 
 b) Second Schedule    2. Administration of tribal areas in 
       states of Assam. Meghalya, Tripura 
       and Mizoram. 
 c) Twelfth Schedule    3. Provisions as to the Speaker and 
       Deputy  Speaker of state Legislative 
       Assemblies. 
 d) Fifth Schedule    4. Powers, authority and   
       responsibilities of  municipalities. 
       5. Powers, authority and   
       responsibilities of  Panchayats. 
 a) 1 3 4 2  b) 1 2 5 3  c) 2 3 4 1  d) 2 3 5 1 
 nghUj;Jf:- 



 

 

 gl;bay;-I     gl;bay;-II 
 a) MwhtJ ml;ltiz  -- 1. ml;ltizg;gLj;jg;gl;l  
       ,lq;fs; kw;Wk;    
        ml;ltizg; goq;Fbapdh;  
       fl;Lg;ghL kw;Wk; eph;thfk; 
 b) ,uz;lhtJ ml;ltiz -- 2. m];]hk;> Nkfhyah> jphpGuh 
       kw;Wk; kpNrhuk; Mfpa   
       khepyq;fspy; goq;Fbapdh;  
       gFjpfspd; Ml;rp eph;thfk; 
 c) gd;dpnuz;lhtJ ml;ltiz -- 3. rl;lkd;wg; Nguitfspy;  
       rghehafh; kw;Wk; Jiz  
       rghehafh; gjtpfis   
       cUthf;Fjy; 
 d) Ie;jhtJ ml;ltiz  -- 4. efuhl;rp mikg;Gfspd;  
       mjpfhuk;> nghWg;Gfs;>   
         Ml;rp Kiwfs; 
       5. Cuhl;rp kd;wq;fspd; mjpfhuk;> 
       nghWg;Gfs;> Ml;rp Kiwfs;. 
 a) 1 3 4 2  b) 1 2 5 3  c) 2 3 4 1  d) 2 3 5 1 
 
102. Destitute widow certificate issued by whom? 
 a) Village Administrative Officer  b) Tahsildar 
 c) Revenue Divisional Officer  d) District Collector 
 Mjutw;w tpjitr; rhd;W ahuhy; toq;fg;gLfpwJ? 
 a) fpuhkeph;thf mYtyh;   b) tl;lhl;rpah; 
 c) Nfhl;lhl;rpah;    d) khtl;l Ml;rpah; 
 
103. Which state government announced to open the Sanskrit University for 
 Scheduled Caste? 
 a) Chandigarh b) Chattisgarh c) Rajasthan  d) Haryana 
 ml;ltiz gphptpdUf;fhd Kjy; rk];fpUj gy;fiyf;fofj;ij 
 njhlq;f cs;s khepyk;  vJ? 
 a) rz;bfh; b) rj;jP];fh;   c) uh[];jhd;   d) `hpahdh 
 
104. Analyse the following statements and select the correct one. 
 I : Origin refers the place of birth and location refers the place of living 
 II : In case of birth certificate required, it is sanctioned to the petitioner  
 where he had birth. 
 III : In case of birth certificate required, it is sanctioned to the petitioner 
 where he continuously lived for 5 years and above where he proposed the 
 place. 



 

 

 IV: In case of Nativity certificate required, it is sanctioned to the petitioner 
 where he continuously lived for 3 years  and above where he proposed the 
 place. 
 a) I, II, IV only  b) I, III, IV only c) I, III only  d) II, IV only 
 gpd;tUk; $w;Wf;fis Ma;e;J rhpahd tpiliaj; Njh;e;njL. 
 I. gpwg;gplk; vd;gJ xUth; gpwe;j ,lj;ijAk; ,Ug;gplk; vd;gJ xUth; 
 njhlh;e;J trpf;Fk;  
                ,lj;ijAk; Fwpf;Fk;. 
 II. gpwg;gplr; rhd;W ngwNtz;Lkhapd; kDjhuh; gpwe;j ,lj;jpy; kl;LNk 
 toq;fg;gLk; 
 III. gpwg;gplr; rhd;W ngw Ntz;Lkhapd; kDjhuh; njhlh;e;J Ie;J 
 Mz;Lfs; kw;Wk; mjw;F Nky; mth; NfhUk; ,lj;jpy; trpj;jpUf;f 
 Ntz;Lk;. 
 IV: ,Ug;gplr; rhd;W Ntz;Lkhapd; kDjhuh; njhlh;e;J %d;W Mz;Lfs; 
 kw;Wk; mjw;F Nky; me;j ,lj;jpy; trpj;jpUf;f Ntz;Lk;. 
 a) I> II> IV kl;Lk; b) I> III> IV kl;Lk; c) I>III kl;Lk; d) II> IV kl;Lk; 
 
105. Sadhana decided to donate 12% of her salary to an orphanage. On the day of 
 donation she changed her mind and donated Rs. 3150. Which was 75% of 
 what she had decided earlier. How much is sadhana’s salary? 
 a) Rs. 35,000  Rs. 42, 500  c) Rs. 39,100  d) Rs. 35,600 
 rhjdh vd;gth; jdJ Cjpaj;jpypUe;J 12% njhifapid fUiz 
 ,y;yj;jpw;F jhdk; toq;Ftjw;F KbntLf;fpwhh;. gpwF jhdk; toq;fpa 
 ehspy; mth; NtW fzf;fpl;L & 3150/- njhifapid tpl jhdk; 
 nra;fpwhh; vdTk; ,j;njhifahdJ Kd;dh; mth; epidj;J ,Ue;jij 
 75% mjpfkhf cs;sJ vdpy; rhjdh ngWk; Cjpak; vt;tsT? 
 a) &. 35>000  b) &. 42>500  c) & 39>100  d) & 35>600 
 
106. Match the following 
  List I    List II 
 a) Article 156  -- 1. Executive authority of Governor 
 b) Article 154  -- 2. Tenure of Governor 
 c) Article 153  -- 3. Appointment of Governor 
 d) Article 155  -- 4. Office of Governor 
    -- 5. Discretionary power of Governor. 
 a) 3 4 5 1  b) 2 1 4 3  c) 5 2 3 4  d) 2 3 4 1 
 nghUj;Jf:- 
  gl;bay;-I   gl;bay;-II 
 a) ~uj;J 156  -- 1. MSehpd; nray;ghl;L mjpfhuk; 
 b) ~uj;J 154  -- 2. MSehpd; gjtpf;fhyk; 
 c) ~uj;J 153  -- 3. MSeh; gjtp epakdk; 
 d) ~uj;J 155  -- 4. MSeh; mYtyfk; 



 

 

      5. MSehpd; vz;zj;jpd;gb Ntiy  
      nra;tjw;fhd mjpfhuk; 
 a) 3 4 5 1  b) 2 1 4 3  c) 5 2 3 4  d) 2 3 4 1 
 
107. Analyze the following statements and select the correct one 
 I : VAOs should not initiate any death inquiry 
 II : Lease holder should be get prior permission from Tahsildar to lease the 
 land as internal lease 
 III : There is no age limit to avail the benefits under the pension scheme for 
 Destitute Disable          persons. 
 a) Only I  b) Only II  c) Only III  d) All of these 
 gpd;tUk; $w;Wf;fis Ma;e;J rhpahdtw;iw kl;Lk; Njh;e;njL 
 I:  fpuhk eph;thf mYtyh; kuz tprhuiz Nkw;nfhs;sf;$lhJ.  
 II. Fj;jif tpl;l epyq;fis NtW xUtUf;F Fj;jifjhuh; 
 cs;Fj;jiff;F tpLtjw;F 
       tl;lhl;rpahplk; mDkjp ngwNtz;Lk;. 
 III. Mjutw;w cly; CdKw;Nwhh; Xa;T+jpaj jpl;lj;jpd; fPo; gad; 
 ngWtjw;Fhpa        Fiwe;jgl;r taJ tuk;G 
 vJTk; ,y;iy. 
 a) I kl;Lk;  b) II kl;Lk;  c) III kl;Lk;  d) midj;Jk; 
 
108. In the following question four words are given, out of which there are same 
 and find the odd one   other and the fourth one is different from 
 the other three-selected the odd one. 
 a) RTW  b) QOM  c) IKG   d) IKM 
 fPNo ehd;F rq;Nfj thh;j;ijfs; jug;gl;Ls;sd. mtw;Ws; ve;j xd;W 
 kw;w %d;W  thh;j;ijfspypUe;J NtWgLfpd;wJ vdf;  fz;lwp. 
 a) RTW  b) QOM  c) IKG   d) IKM 
 
109. How many types in stone register? 
 a) 2  b) 3  c) 4  d) 6 
 fy;gjpNtL vj;jid tifg;gLk;? 
 a) 2  b) 3  c) 4  d) 6 
 
110. Match the following 
 a) Diwan-in-Arz  -- 1. Agritulture Dept. 
 b) Diwan in-Riyasat  -- 2. Military Dept. 
 c) Diwan-in-Kohi  -- 3. Religious Affairs Dept. 
 d) Diwan-in-Rasalat  -- 4. Price Fixing Dept. 
 a) 1 3 2 4  b) 2 3 1 4  c) 2 4 1 3  d) 1 2 3 4 
 nghUj;Jf 
 a) jpthdp mh;];  -- 1. Ntshz;ikj; Jiw 
 b) jpthdp upahrj;  -- 2. ghJfhg;Gj; Jiw 



 

 

 c) jpthdp Nfh`p  -- 3. kjtptfhuj; Jiw 
 d) jpthdp uryj;  -- 4. tpiy eph;zaj; Jiw 
 a) 1 3 2 4  b) 2 3 1 4  c) 2 4 1 3  d) 1 2 3 4 
 
111. Warm ocean currents help Maintaining grasslands in the adjoining 
 continents. Choose the correct   matches from the following 
 grasslands with the corresponding ocean currents? 
 a) Pampas   - 1. Agulhas Current 
 b) Veld   - 2. East Australian Current 
 c) Downs   - 3. South Atlantic Current 
 d) Stepes   - 4. Gulf Stream 
 a) 1 2 3 4  b) 3 1 2 4  c) 2 1 3 4  d) 1 2 4 3 
 flypy; fhzg;gLk; ntg;g ePNuhl;lkhdJ> mUfpypUf;Fk; fz;lq;fspy; 
 Gy;ntspfis cUthf;Ftjpy; cjtpahf ,Uf;fpd;wJ. mjd;gb fPNo 
 Fwpg;gplg;gl;Ls;sGy;ntspfisAk; mjw;Fhpa fly; ePNuhl;lq;fisAk; 
 nghUj;Jf. 
 a) ghk;g];  -- 1. MFy;`]; ePNuhl;lk; 
 b) Nty;L  -- 2. fpof;F M];jpNuypa ePNuhl;lk; 
 c) lTz;];  -- 3. njw;F ml;yhz;bf; ePNuhl;lk; 
 d) ];nlg;gp  -- 4. fy;g; ePNuhl;lk; 
 a) 1 2 3 4  b) 3 1 2 4  c) 2 1 3 4  d) 1 2 4 3 
 

112. Prithika Yashini the 1st transgender SI belongs to which district 
 a) Salem b) Dindigul  c) Coimbatore  d) Madurai 
 gphpj;jpfh ahrpdp %d;whk; ghypd Jiz Ma;thsh; ve;j khtl;lj;ij 
 Nrh;e;jth; 
 a) Nryk;  b) jpz;Lf;fy;   c) Nfhit    d) kJiu 
 
113. Match the followin:- 
       List-I (States)          List-II (Governor’s special responsibilities) 
 a) Madhya Pradesh  -- 1. Law and order 
 b) Gujarat   -- 2. Administration of tribal areas 
 c) Nagaland   -- 3. Development of backward areas  
 d) Assam   -- 4. Minister for Tribal Welfare 
     -- 5. Hill Areas Committee working 
 a) 3 4 2 5  b) 2 1 4 3  c) 4 3 1 2  d) 5 3 2 4 
 gl;bay;-I (khepyk;)   gl;bay;-II (MSehpd; jdpr;rpwg;ghd  
      nghWg;Gfs;) 
 a) kj;jpag;gpuNjrk;  -- 1. rl;lk; kw;Wk; xOq;F 
 b) F[uhj;   -- 2. goq;Fbapdh; gFjpfSf;fhd Ml;rp 
      mjpfhuk; 



 

 

 c) ehfhyhe;J   -- 3. gpw;Nghf;fhd ,lq;fis   
      Nkk;gLj;Jjy; 
 d) m];]hk;   -- 4. goq;Fbapdh; ey mikr;rh; 
      5. kiyg;gFjpfSf;fhd gzpfs; FO 
 a) 3 4 2 5  b) 2 1 4 3  c) 4 3 1 2  d) 5 3 2 4 
 
114. How many stages are there in Disaster Management ? 
 a) 3   b) 5   c) 8   d) 10 
 Nghplh; Nkyhz;ikapd; gb epiyfs; vj;jid? 
 a) 3   b) 5   c) 8   d) 10 
 
115. Lens which is used to correct Myopia is ___________ 
 a) Concave  b) convex  c) bifocal  d) None 
 fpl;lg;ghh;itia rhp nra;tjw;F cjTk; Mb vJ 

 a) Fopahb b)  Ftpahb c) ,UFtpahb  d) vJTkpy;iy 
 
116. Assertion A  : Hurricane cannot develop in the vicinity of equator 
 Reason (R)   : Coriolis force is maximum over the equator 
 a) Both (A) and (R) are true and (R) is the reason of (A) 
 b) Both (A) and (R) are true and R is not the reason of (A) 
 c) A is true but (R) is false 
 d) A is false but (R) is true 
 $w;W (A) : epyeLf;Nfhl;Lg;gFjpapy; #whtspg; Gay;fs; cUthtJ 
 ,y;iy 
 fhuzk; (R) : Nfhhpahyp]; tpir epyeLf;Nfhl;Lg; gFjpapy; mjpfkhf 
 nray;gLk; 
 a) $w;W (A) kw;Wk; fhuzk; (R) ,uz;Lk; rhpahdit. NkYk; fhuzk; 
 $w;Wf;fhd rhpahd      tpsf;fk; MFk;. 
 b) $w;W (A) kw;Wk; fhuzk; (R) ,uz;Lk; rhpahdit. Mdhy; fhuzk; 
 $w;Wf;fhd rhpahd      tpsf;fk; my;y. 
 c) $w;W (A) rhpahdJ. Mdhy; fhuzk; (R) jtwhdJ 
 d) $w;W (A) jtwhdJ. Mdhy; fhuzk; (R) rhpahdJ 
 
117. The Birth / Deaths should be reported before the register within the days of 
 a) 7   b) 10   c) 21   d) 30 
 gpwg;G/,wg;G jfty;fis gjpthshplk; epfo;T ele;j ehspypUe;J 
 vj;jid ehl;fSf;Fs; juNtz;Lk;? 
 a) 7   b) 10   c) 21   d) 30 
 
118. Match the following: 
 a) Shakshar Bharath    -- 1. Intermediate Education 
 b) Rashtriya Madhyamic Shiksha Abhiyan -- 2. Elementary  
         Education 



 

 

 c) Sarva Shiksha Abhiyan    -- 3. Higher Education 
 d) Indian Institute of Technology   -- 4. Women’s Education 
 a) 4 1 2 3  b) 1 4 3 2  c) 4 2 1 3  d) 4 3 1 2 
 nghUj;Jf: 
 a) rhf;~h; ghuj;      -- 1. ,ilepiyf; 
          fy;tp  
 b) uh~;l;hpa kj;akpf; rpf;~ mgpahd; (RMSA) -- 2. njhlf;ff; 
          fy;tp 
 c) rh;t rpf;~ mgpahd; (SSA)    -- 3. cah;fy;tp 
 d) ,e;jpa njhopy; El;g epWtdk;   -- 4. ngz;fy;tp 
 a) 4 1 2 3  b) 1 4 3 2  c) 4 2 1 3  d) 4 3 1 2 
 
119. Find out the incorrect statement from the following 
 I: Cholera spread over drinking water 
 II: Malaria, Dengue are spread over mosquitos 
 III: Plague spread over rats 
 IV: Ascarisis Spread over Cattle 
 V: Rabies spread over Dogs 
 a) II, V only  b) I, IV only  c) IV only  d) I only 
 gpd;tUk; $w;Wf;fSs; jtwhdij fz;lwp 
 I: FbePh; %ykhf fhyuh guTfpwJ 
 II: nfhRf;fs; %ykhf kNyhpah> nlq;F guTfpwJ 
 III: vypfs; %ykhf gpNsf; guTfpwJ 
 IV: fhy;eilfs; %ykhf ehlhg;GO Neha; guTfpwJ. 
 V: eha;fs; %ykhf ntwpeha; guTfpwJ. 
 a) II, V kl;Lk;  b) I, IV kl;Lk; c) IV kl;Lk;  d) I kl;Lk; 
 
120. Who has given the alternative approach to Indian Planning at the time of the 
 formulation of the    Second Five Year Plan? 
 a) P.C. Mahalanobis    b) C. N. Vakil and P. R. Brahmananda
 c) Nurkse     d) Schumpeter 
 ,uz;lhtJ Ie;jhz;L jpl;lk; cUthd NghJ> ,e;jpa jpl;lj;jpw;F 
 ahuhy; khw;W Kiw nfhLf;fg;gl;lJ? 
 a) P.C. k`yNehgp];    b) C. N. tf;fPy; kw;Wk; P.R. gpuk;khde;jh 
 c) eh;f;];    d) Rk;gPl;lh; 
 
121. Centre hikes the MSP of Dals by 
 a) 200/quintal  b) 250/quintal  c) 275/quintal 
 d) 300/quintal 
 gUg;GfSf;fhd Fiwe;j gl;r MjuT tpiyia(MSP) kj;jpa muR 
 vt;tsT cah;j;jpaJ? 
 a) 200/Ftpd;lhy;    b) 250/Ftpd;lhy 



 

 

;  c) 275/Ftpd;lhy;     d) 300/Ftpd;lhy; 
 
122. In the following question two positions of a dice are shown below. If 1 is at 
 the bottom, which number will be on top? 
 fPNo cs;sthW xU gfilapd; ,U Ntwhd epiyfisf; fhz;f. 
 mtw;Ws; gfilapd; mbg;gFjp 1 vd;w vz;iz cilajhdhy; 
 Nkw;gFjp ve;j vz;izg; ngw;wpUf;Fk;? 
 a) 4   b) 3   c) 8   d) 5 
 
123. One Acre is equal to 
 a) 2.47 Cents  b) 50 Cents  c) 100 Cents  d) 5.5 Cents 
 xU Vf;fh; vd;gJ 
 a) 2.47 nrz;l; b) 50 nrz;l; c) 100 nrz;l; d) 5.5 nrz;l; 
 
124. How much portion of Treasure should be issued to the discovered person? 
 a) Quarter  b) Half  c) One-fifth  d) No Practice to issue 
 Gijaiyf; fz;nlLj;jtUf;F vj;jid ghfk; mspf;fg;gLk; 
 a) fhy; gq;F   b) miug;gq;F 
 c) Ie;jpy; xU gq;F  d) gq;F vJTk; mspf;fg;gLtjpy;;iy 
 
125. Matchthe following:- 
 a) First Five Year Plan  -- 1. Eradication of poverty 
 b) Second Five Year Plan -- 2. Equality and Social Justice 
 c) Fifth Five Year Plan  -- 3. Industrial Development 
 d) Tenth Five Year Plan -- 4. Agriculture 
 a) 4 3 1 2  b) 2 1 3 4  c) 1 3 4 2  d) 2 4 1 3 
 nghUj;Jf: 
 a) Kjyhk; Ie;jhz;L jpl;lk; -- 1. tWik xopg;G 
 b) ,uz;lhk; Ie;jhz;Lj; jpl;lk;-- 2. rkj;Jtk; kw;Wk; r%fePjp 
 c) Ie;jhk; Ie;jhz;Lj; jpl;lk; -- 3. njhopw;Jiw tsh;r;rp 
 d)  gj;jhk; Ie;jhz;L jpl;lk; -- 4. Ntshz;ik 
 a) 4 3 1 2  b) 2 1 3 4  c) 1 3 4 2  d) 2 4 1 3 
 
126. In a test, suren got 112 marks which is 32 more than the passing marks. Sonal 
 got 75%  marks which is 70 more than the passing marks. What is the 
 minimum passing percentage of the test? 
 a) 35   b) 45   c) 40   d) 30 
 xU Njh;tpy; 112 kjpg;ngz;fisg; ngw;W Njh;r;rp ngWtjw;fhd 
 kjpg;ngz;iztpl mjpfkhf 32 kjpg;ngz;fis RNud; ngw;wpUf;fpwhh;. 
 Nrhdhy; vd;gth; 75 % kjpg;ngz;fs; ngw;W Njh;r;rp kjpg;ngz;fistpl 
 70 kjpg;ngz;fis mjpfk; ngw;wpUf;fpwhh; mg;gbahdhy;>  
 Njh;r;rp ngWtjw;fhd Fiwe;jgl;r  kjpg;ngz;fs; vt;tsT? 
 a) 35   b) 45   c) 40   d) 30 



 

 

 
127. Select the correct one from the following statements: 
 I : South west monsoon referes the period of June to September 
 II : The rainfall level 33% in this period 
 III : North East monsoon refers the period of October to December 
 IV : The rainfall level 48% in this period 
 a) I, III are correct    b) I, II are correct 
 c) II, IV are correct    d) All are correct 
 gpd;tUk; $w;Wf;fis Ma;e;J rhpahd njhliuf; Njh;f. 
 I: njd; Nkw;F gUtf; fhyk; vd;gJ [{d; Kjy; nrg;lk;gh; tiu. 
 II. ,f;fhyj;jpy; 33% mstpy; kio nghopa Ntz;Lk; 
 III. tl fpof;F gUtfhyk; vd;gJ mf;Nlhgh; Kjy; brk;gh; tiu. 
 IV. ,f;fhyj;jpy; 48% mstpy; kio nghopa Ntz;Lk;. 
 a) $w;W I,III kl;Lk; rhpahdit     b) $w;W I, II kl;Lk; rhpahdit 
 c) $w;W II,IV kl;Lk; rhpahdit    d) midj;Jk; rhpahdit 
 
128. Which of the following Deccan Sultanate was associated with Raksasa 
 Thangadi 
 1. Ahamadnagar  2. Bidar  3. Berar 
 4. Golgonda   5. Bijapur 
 a) All  b) 1 , 2 & 5  c) 1, 2, 4 & 5  d) 1, 3, 4 & 5 
 ve;j jf;fhz Ry;jhd;fs; uhf;~] jhq;fbAld; njhlh;Gilaith;fs; 
 1. mfkJefh; 2. gPlhh; 3. gPuhh;  4. Nfhy;nfhz;lh 5. gP[g;g+h; 
 a) midj;Jk;    b) 1> 2 kw;Wk; 5 
 c) 1> 2> 4 kw;Wk; 5   d) 1> 3> 4 kw;Wk; 5 
 
129. Match the following:- 
 a) Lease percentage of Trade    -- 1. 1% 
 b) Surcharge for lease percentage of Trade  -- 2. 2% 
 c) Lease percentage of Non-Trade    -- 3. 1% 
 d) Surcharge for lease percentage of Non-Trade  -- 4. 1% 
 a) 2 1 4 3  b) 4 2 3 1  c) 4 3 1 2  d) 3 1 4 2 
 nghUj;Jf 
 a) tzpfj;jpw;fhd Fj;jif rjtPjk;   –  1) 1% 
 b)  tzpfj;jpw;fhd Fj;jiff;fhd jythp  – 2) 2% 
 c)  tzpfkpy;yhjjw;fhd Fj;jif rjtPjk;  – 3) 1% 
 d)  tzpfkpy;yhjjw;fhd Fj;jiff;fhd jythp – 4) 1% 
 a) 2 1 4 3  b) 4 2 3 1   c) 4 3 1 2  d) 3 1 4 2  
 
130. In electroplating object to be electroplated is made as ______________ 
 a) Cathode  b) Anode c) Cathode or Anode  d) None 
 kpd;Kyhk; G+rg;gl Ntz;ba nghUs; vt;thwhff; nray;gLk; 



 

 

 a) vjph;kpd;tha;         b) Neh;kpd;tha; 
  c) vjph; my;yJ Neh; kpd;tha;    d) vJTk; ,y;iy 
 
131. APJ Abdul Kalam Amrut Yojana was introduced by which state government? 
 a) Punjab b) Haryana  c) Delhi  d) Maharashtra 
 ve;j khepy muR A.P.J mg;Jy;fyhk; mk;&j; Nah[dhit 
 mwpKfg;gLj;jpaJ? 
 a) gQ;rhg;  b) `hpahdh  c) nly;yp  d) kfhuh\;buh 
 
132. A conical cavity is drilled in a circular cylinder of height 15 cm and base radius 
 8 cm. The height and the base radius of the cone are also the same. Then the 
 whole surface of the  remaining solid   is. 
 a)  440 𝜋𝑐𝑚2  b) 240 𝜋𝑐𝑚2   c)  640 𝜋𝑐𝑚2  d)  960 𝜋𝑐𝑚2 
 15 nr.kP cauKk; 8 nr.kP mbg;gug;Gk; nfhz;l cUisapd; 
 fPo;g;Gwj;jpy; $k;G tbtj;jpy; Jisaplg;gLfpwJ. $k;gpd; cauKk; 
 mbg;gf;f MuKk; Nkw;$wg;gl;l mNj msT cs;sd   vdpy; 
 me;j jpz;kj;jpd; nkhj;j gug;G vt;tsT? 
 a)  440 𝜋𝑐𝑚2  b) 240 𝜋𝑐𝑚2   c)  640 𝜋𝑐𝑚2  d)  960 𝜋𝑐𝑚2 
 

133. Tax concession for the theatres is 
 a) 10%   b) 15%   c) 20%  
 d) 25% 
 jpiuauq;FfSf;F thpr; rYif vt;tsT? 
 a) 10%   b) 15%   c) 20%  
 d) 25% 
 
134. In which year direct recruitment to the VAO post was come under the 
 purview of TNPSC? 
 a) 1978   b) 1980  c) 1981 d) 1983 
 ve;j Mz;L fpuhkeph;thf mYtyUf;fhd Neub epakd Njh;T> jkpo;ehL 
 muR gzpahsh; Njh;thizaj;jpd; tiuaiwf;Fs; nfhz;L tug;gl;lJ? 
 a) 1978   b) 1980  c) 1981 d) 1983 
 
135. Three cubes of a metal are of edges 3 cm, 4 cm and 5 cm. There are melted 
 together and form the melted material another cube is formed. The edge of 
 that cube is  
 a) 8 cm  b) 10 cm  c) 9 cm   d) 6 cm 
 cNyhfj;jhy; nra;ag;gl;l %d;W fdrJuq;fs; 3nr.kP> 4 nr.kP> 5 nr.kP 
 msTfis jq;fsJ gf;f msTfshff; nfhz;Ls;sd. ,e;j 
 fdrJuq;fs; midj;Jk; Nrh;e;J cUf;fg;gl;L mjpypUe;J Gjpa 
 fdrJuk; cUthf;fg;gLfpwJ vdpy; mjd; gf;f msT 
 a) 8 nr.kP  b) 10 nr.kP  c) 9 nr.kP  d) 6 nr.kP 
 



 

 

136. pH  values of 0.01 M HCL and 0.01 M NaoH solutions are 
 a) 2 and 7  b) 2 and 12 c) 13 and 1 d) 3 and 11 

 0.01 M HCL  fiury; kw;Wk; 0.01 M NaOH  fiury; jug;gl;Ls;sd. 
 ,tw;wpd; pH kjpg;Gfs; KiwNa 
 a) 2 kw;Wk; 7 b) 2 kw;Wk; 12 c) 13 kw;Wk; 1 d) 3 kw;Wk; 11 
 
137. Which of the following statement are correct 
 I. 1st Sultan to measure the land was Balban 
 II. 1st Sultan to dug canals & wells was Feroz Tughlaq 
 a) I only  b) II only  c) I & II  d) None 
 ve;j $w;W rhp. 
 I. epyj;jpid mse;j Kjy; Ry;jhd; ghy;gd; 
 II. fhy;tha; kw;Wk; fpzW ntl;ba Kjy; Ry;jhd; ngNuh]; Jf;sf; 
 a) I kl;Lk;  b) II kl;Lk; c) I kw;Wk; II  d) vJTkpy;iy 
 
138. Match List-I with List-II and select the correct answer by using the codes 
 given below from the    lists. 
        List-I    List-II  
 a. Governor    1. Article 167 
 b. Council of ministers  2. Article 169 
 c. Duties of Chief Ministers  3. Article 155 
 d. Legislative Council  4. Article 163 
 a) 1 2 3 4   b) 4 3 2 1  c) 3 2 4 1  d) 3 4 1 2 
 gl;bay; I kw;Wk; gl;bay; II Mfpatw;iw jFe;j Fwpg;Gfisf; nfhz;L 
 nghUj;jTk; 
  gl;bay;-I    gl;bay;-II 
 a) MSeh;    -- 1. ~uj;J 167 
 b) mikr;ruitf; FO  -- 2. ~uj;J 169 
 c) Kjyikr;rhpd; gzpfs ; -- 3. ~uj;J 155  
 d) rl;lkd;w Nkyit  -- 4. ~uj;J 163 
 a) 1 2 3 4   b) 4 3 2 1  c) 3 2 4 1  d) 3 4 1 2 
 
139. Coral bleaching causes high mortality of corals and is an event of great 
 concern. Coral bleaching is described by 
 a) Deposition of caco3 by corals 

 b) More association of calcareous Algae with corals 
 c) Expulsion of symbiotic algae by corals 
 d) Eutrophication and by algal blooms in coral reefs 
 gtsk; ntSg;giljy; vd;gJ gtsq;fspd; ,wg;gpdhYk; mitfspd; 
 tho;tpay; KiwfshYk; eilngWfpwJ. ,jid ,t;thwhf tiuaiw 
 nra;ayhk;. 



 

 

 a) gtsq;fspypUe;J fhy;rpak; fhh;gNdl; ePq;Fjy; 
 b) gtsq;fSk; fhy;fhhpa]; My;fhf;fSk; $l;bize;J cUthtJ 
 c) My;fhf;fis ntspNaw;Wjy; 
 d) gtsg;ghiwfspy; caph; nrwpt+l;Ljy; kw;Wk; My;fh kyh;r;rp 
 cUthjy; 
 
140. Atmospheric pressure at sea level is approximately equal to ____________ 

 a) 105N/m²  b) 104N/m²  c) 103N/m²  d) 108N/m² 
 fly; kl;lj;jpy; tspkz;ly mOj;jk; Vwj;jho fPo;fz;litfspy; vjw;F  
 rkkhf ,Uf;Fk;? 

 a) 105N/m²  b) 104N/m²  c) 103N/m²  d) 108N/m²  
 
141. Who among the following is the recipient of 2015 - International Children’s 
 Peace Prizes? 
 a) Kailash Sathyarthi   b) Malala Yousufssai  
 c) Amjad Ali Khan   d) Abraham M. Keita 
 2015-k; Mz;bw;fhd rh;tNjr Foe;ijfs; mikjp tpUJ ngw;wJ ahh;? 
 a) ifyh]; rj;jpahh;j;jp   b) kyhyh A+rg; rha; 
 c) mk;[j; mypfhd;   d) Mg;ufhk; M Nfa;lh 
 
142. Analyse the following statement: 
 Statement I : Account No. 21 is related to the details of cattle and 
 Agricultural instruments 
 Statement II : The register should be calculated in each of the decade 
 a) Both are correct    b) Only I is correct 
 c) Only II is correct    d) Both are wrong 
 gpd;tUk; $w;Wf;fis Ma;f. 
 $w;W I:- fpuhkf;fzf;F vz; 21 vd;gJ fhy;eil thhpahd tpguq;fs;> 
 tptrhaf; fUtpfs; ,Ug;G Nghd;wit Fwpj;jit MFk;. 
 $w;W II - ,e;j fzf;fpid xt;nthU gj;jhz;LfSf;Fk; fzf;nfLg;G 
 nra;a Ntz;Lk;. 
 a) ,uz;Lk; rhpahdit   b) I kl;Lk; rhpahdJ 
 c) II kl;Lk; rhpahdJ   d) ,uz;Lk; jtwhdit  

 

143. Every bank has to keep certain minimum cash balance with RBI is called 
 a) Variable Reserve Ratio    b) Cash Reserve Ratio 
 c) Cash Discount Ratio     d) Trade Discount Ratio 
 ,e;jpa uprh;t; tq;fpaplk; xt;nthU tq;fpAk; xU Fwpg;gpl;l njhifia 
 nuhf;f ,Ug;ghf itg;gJ 
 a) khWgLk; fhg;G tpfpjk;  b) nuhf;f ,Ug;G tpfpjk; 
 c) nuhf;f js;Sgb tpfpjk;  d) tpahghuj; js;Sgb tpfpjk; 
 



 

 

144. 4 women and 12 children together take four days to complete a piece of 
 work. How many days will four children alone take to complete the piece of 
 work if two women  alone can complete the piece of work in 16 days? 
 a) 32   b) 24   c) 16   d) 12 
 4 ngz;fSk; 12 rpWth;fSk; ,ize;J xU Ntiyia 4 ehl;fspy; 
 nra;J Kbf;fpd;wdh;. ,Nj Ntiyia 2 ngz;fs; kl;Lk; nra;Ak; 
 Neh;tpy; 16 ehl;fs; Mfpd;wJ vdpy; 4 rpWth;fs; kl;Lk; nra;jhy; 
 vj;jid ehs; MFk;? 
 a) 32   b) 24   c) 16   d) 12 
 
145. Which one of the following is correct example for isobars? 

 a) 17CI35
, 17CI37

 b)  18AR40
, 20CI40

 c) 1H1, 1H2,   d) 6 C13, 7N14  

 fPo;fhz;gtw;wpy; vJ rhpahd INrhghh; MFk;? 

 a) 17Cl35
, 17Cl37

 b)  18AR40
, 20Cl40

 c) 1H1, 1H2,   d) 6 C13, 7N14  

 

146. Plasma is about________% water. 
 a) 80   b) 87   c) 92   d) 94 
 gpsh];khtpy; vj;jid rjtPjk; ePh; cs;sJ 
 a) 80   b) 87   c) 92   d) 94 
 
147. Match the following:- 
 a) Kalidasa  -- 1. Brihat Samhita 
 b) Sudraka  -- 2. Meghaduta 
 c) Varahamirta  -- 3. Mrichakatika 
 d) Visakadatta  -- 4. Mudrakshasa 
 a) 2 3 1 4  b) 2 3 4 1  c) 2 1 4 3  d) 3 4 1 2 
 nghUj;Jf. 
 a) fhspjhrh;  -- 1. gpUfj; rk;`pjh 
 b) #j;ufh;  -- 2. NkfJ}jk; 
 c) tuhfkpuh;  -- 3. kpUr;rfbfk; 
 d) tprhfjj;jh; -- 4. Kj;uhuhl;rrk; 
 a) 2 3 1 4  b) 2 3 4 1  c) 2 1 4 3  d) 3 4 1 2 
 
148. District Judges are appointed by: 
 a) The Chief Justice of High Court     b) The State Public Service Commission 
 c) The Chief Minister of state    d) The Governor of state 
 khtl;l ePjpgjpfs; ahuhy; epakpf;fg;gLfpwhh;fs;? 
 a) cah;ePjpkd;w ePjpgjp  b) khepy muRg;gzpahsh; Njh;thizak; 
 c) khepy Kjyikr;rh;  d) khepy MSeh; 
 



 

 

149. Which of the following belongs to the newly formed class of subplanets 
 called plutoids (Dwarf planets)? 
 1. Pluto 2. Eris  3. Makemake 
 Select the correct answer 
 a) 1 only  b) 2 and 3 only c) 1 and 3  d) All 
 G@lha;Lfs; (Fs;sf;Nfhs;fs;) vd miof;fg;gLk; cgfpufq;fs; 
 1. G@l;Nlh 2. <hp]; 3. Nkf;Nkf; 
 a) 1 kl;Lk; b) 2 kw;Wk; 3  c) 1 kw;Wk; 3  d) midj;Jk; 
 

150. The liquid which has the specific heat capacity of 4180 J/Kg-1/ K-1 is 
 a) mercury  b) kerosene  c) water  d) coconut oil 

 fPo;tUtdtw;Ws; 4180 J/Kg-1/ K-1  jd; ntg;g Vw;Gj;jpwd; 
 kjpg;Gf;nfhz;l jputj;jpidf;  Njh;e;njLf;f. 
 a) ghjurk;  b) kz;nzz;nza; c) ePh; d) Njq;fha; vz;nza; 
 
151. Which commitee has recommended major changes in IIT Entrance 
 Examination? 
  a) Ashok Misra Committee   b) Rameshwar Committee 
  c) Rajesh Arora Committee   d) Alok Naik Committee  
 IIb EioT Njh;tpdpy; mjpfg;gbahd khw;wq;fis Md ghpe;Jiuahf 
 nra;jJ ve;j    FO? 
 a) mNrhf; kp\;uh FO     b) uNk\;th; FO 
 c) uhN[~; mNuhuh FO   d) mNyhf; ehaf; FO 
 
152. The permanent irrigation sources as providing water to the Ayakkat lands for 
 the whole year is belongs to the category of 
 a) First class  b) Second class c) Third class d) Fourth class 
 tUlk; KOtjw;Fk; Maf;fl;L epyq;fSf;F jz;zPh; nfhLf;ff;$ba 
 epue;ju ghrd Mjhuq;fs; ve;j tifia rhh;e;jJ? 
 a) Kjyhk; tFg;G    b) ,uz;lhk; tFg;G 
 c) %d;whk; tFg;G    d) ehd;fhk; tFg;G 
 
153. Consider the following statements and identify which one is not correct? 
 Inflation can be checked by some of the following measures : - 
 Select the incorrect measure : 
 a) increased taxation   b) increasing government expenses 
 c) restrictions on imports   d) rationing 
 fPo;f;fz;ltw;Ws; vJ rhpay;y vd jPh;khdpf;fTk; : gztPf;fj;ijf; 
 fl;Lg;gLj;j  Nkw;nfhs;sg;gLk; eltbf;iffs; nfhLf;fg; gl;Ls;sd. vJ 
 mtw;Ws; jtwhdJ? 
 a) thp tpjpg;ig mjpfg;gLj;Jjy; 
 b) murpd; nrytpdj;ij mjpfhpj;jy; 



 

 

 c) ,wf;Fkjpapy; fl;Lg;ghLfs; tpjpj;jy; 
 d) nghJg; gq;fPL 
 
154. If the compound interest on a certain sum of money for 3 years at 10% p.a. 
 be Rs.  993.  What would be the Simple Interest? 
 a) Rs. 800  b) Rs.950  c) Rs. 1000  d) Rs. 4600 
 xU Fwpg;gpl;l njhiff;F $l;Ltl;bapy; 10% Mz;L tl;b tPjj;jy; 3 
 tUlq;fSf;F & 993 fpilf;fpwJ vdpy; jdptl;b fzf;fpl;lhy; 
 fpilf;Fk; njhif vt;tsT? 
 a) &. 800  b) &. 950  c) & 1000  d) & 4600 
 
155. Consider the following statements. 
 I. Graphite is a good conductor of electricity  
 II. Diamond is very hard and has high melting point and boiling point 
 III. Solid carbon monoxide is known as dry ice 
 IV. Carbonic acid turns red litmus slightly blue  
 Which of the above statement is/are correct? 
 a) I and III are correct     b) II and III are correct 
    c) I and II are correct   d) III and Iv are correct 
 fPo;f;fz;l $w;Wfis Ma;e;J vJ/vit rhp vd nfhLf;fg;gl;Ls;s 
 Fwpg;Gfs; %yk;    Njh;e;njL 
 I. fpuhigl; ed;F kpd;rhuj;ij flj;Jk; 
 II. ituk; kpfTk; fbdkhdJ. mjpf cUF epiy kw;Wk; nfhjpepiy  
      nfhz;lJ. 
 III. jpz;k fhh;gd; Nkhdhf;i]L cyh; gdpf;fl;b vd;wiof;fg;gLk; 
 IV. fhh;ghdpf; mkpyk; rptg;;G ypl;k]; jhis ePy epwkhf khw;Wk; 
 a) I kw;Wk; III rhpahdit   b) II kw;Wk; III rhpahdit 
 c) I kw;Wk; II rhpahdit    d) III kw;Wk; IV rhpahdit 
 
156. Find the incorrect pair. 
 a)  Amoeba  - Pseudopodia 
 b) Paramecium - Cilia 
 c) Bat   - Flagella 
 d) Earthworm - Bodysetae 
 jtwhd ,izia fz;lwpf. 
 a. mkPgh - Nghypf;fhy;fs; 
 b. ghukPrpak; - FW,io 
 c. ntsthy; - gpshn[y;yh 
 d. kz;GO - cly; rPl;lh 
 
157. Which Rock Edict of Asoka provides description of Kalinga War? 
 a) Rock Edict II        b) Rock Edict XIII 



 

 

 c) Kaling Edict at Dhauli   d) Hathikumba Inscription 
 mNrhfuJ ve;j fy;ntl;L fypq;f Nghh; gw;wp Fwpg;gpLfpwJ 
 a) ghiw fy;ntl;L II    b) ghiw fy;ntl;L 13 
 c) jTypapy; cs;s fypq;f fy;ntl;L  d) `jpFk;gh fy;ntl;L 
 
158. The recommendations of the Ashok Mehta Committee on Panchayati Raj are: 
 a) Creation of a two-tier system  
 b) Reservation of seats for SCs and STs 
 c) Compulsory powers of taxation to Panchayati Raj institutions 
 d) Open participation of political parties in Panchayati Raj affairs 
 e) If superceded, elections must be held within one year 
 a) a, c and d  b) a, b, c and d c) a, b, c and d d) a, c, d and e 
 gQ;rhaj;J uh[; njhlh;ghd mNrhf; Nkj;jh FOtpd; ghpe;Jiu 
 a) ,ul;il mLf;F Kiw cUthf;fk; 
 b) SC kw;Wk; ST gphptpdUf;fhd ,lxJf;fPL 
 c) fl;lhakhf thptpjpf;Fk; mjpfhuj;ij gQ;rhaj;J uh[;  
 mikg;GfSf;F toq;Fjy; 
 d) ,e;j mikg;Gfis uj;J nra;Ak; Neh;tpy; kPz;Lk; 
 cUthf;Ftjw;fhd Njh;jiy xU tUlj;jpw;Fs; elj;jpl Ntz;Lk;. 
 
159. During a lunar eclipse ______ 
 a) Earth is opaque object    b) Moon acts as a source 
 c) Shadow of earth falls on moon   d) all the above 
 re;jpu fpufzj;jpd; NghJ eilngWtJ 
 a) g+kp ,Ushf khWk;  b) re;jpud; Mw;wy; %ykhf nray;gLk; 
 c) g+kpapd; epoy; re;jpud; kPJ tpOk;  d) ,it midj;Jk; 
 
160. Which types of waves are sent out and receives by bats to identify prey and 
 obstacle? 

 a) Supersonic  b) Ultrasonic  c) Infrasonic  d) Subsonic 
 ntsthy;fs; jq;fsJ ,iuiaAk; nry;Yk; ghijapYs;s 
 jilfisAk;  mwpe;J nfhs;s ______________ miyfis mDg;gp 
 mit vjpnuhypf;fg;gl;L czh;fpd;wd. 
 a) #g;gh; Nrhdpf;  b) kPnahyp  c) Fw;nwhyp d) rg; Nrhdpf; 
 
161. Who is the author of the book titled “Jinnah Often Came to out House” 
 a) Jaswanth Singh     b) Kiran Doshi 
 c) Nasid Hajari     d) Jairam Ramesh 
 “[pd;dh mbf;fb vq;fs; tPl;bw;F te;jhh;” vd;w E}ypd; Mrphpah; ahh;? 
 a) [];te;j;rpq;     b) fpuz; Njh\p 
 c) erpj; `[hhp     d) n[a;uhk; uNk\; 
 



 

 

162. Tamilnadu Hindu Religious and Charitable act was introduced in the year? 
 a) 1950  b) 1951  c) 1953  d) 1954 
 jkpo;ehL ,e;J rka mwf;fl;lisr; rl;lk; ve;j Mz;L ,aw;wg; gl;lJ? 
 a) 1950  b) 1951  c) 1953  d) 1954 
 
163. A sum was put at simple Interest at a certain rate for 2 years. Had it been put 
 at 3% higher rate, it  would have fetched Rs.300 more. And the sum would 
 be? 
 a) Rs.600  b) Rs. 8230   c) Rs. 5000  d) Rs. 4600 
 xU Fwpg;gpl;l njhifapid jdptl;bapy; 2 tUlq;fSf;F Fwpg;gpl;l 
 tl;b tpfpjj;jpy; ngWtij tpl tl;b tpfpjk; 3% mjpfg;gLj;Jk; NghJ 
 & 300/- mjpfkhf fpilf;Fk; vdpy; mj;njhif vt;tsT? 
 a) &. 600  b) &. 8230  c) & 5000  d) & 4600 
 
164. Inflation denotes the following situation : 
 a) price level rises - money value falls 
 b) price level rises - money value rises 
 c) price level falls - money value falls 
 d) price level falls - money value rises 
 gztPf;fk; vd;gJ fPo;f;fz;l epiyiaf; Fwpf;Fk; 
 a) tpiythrp cah;Tk; - gzj;jpd; kjpg;G tPo;r;rpAk; 
 b) tpiythrp cah;Tk; - gzj;jpd; kjpg;G cah;Tk; 
 c) tpiythrp tPo;r;rpAk; - gzj;jpd; kjpg;G tPo;r;rpAk; 
 d) tpiythrp tPo;r;rpAk; - gzj;jpd; kjpg;G cah;Tk; 
 
165. Acetylene on polymerisation gives 
 a) Propyiene  b) Benzene  c) P.V.C  d) Polythene 
 mrpl;byPid gygbahf;Fk; NghJ fpilg;gJ 
 a) GNuhg;gpyPd; b) ngd;rPd;  c) gp.tp.rp (P.V.C) d) ghypjPd; 
 
166. Find the incorrect pair. 
 a) Cucumis Sativus   -  1. Cucumber 
 b) Cocus Nucifera   -  2. Coconut 
 c) Hordeum Vulgare   -  3. Barley 
 d) Ficus Glomerata   -  4. Cucumber 
 jtwhdij fz;lwpf. 
 A. Ff;Fkp]; rl;ilt];   -  1 nts;shpf;fha; 
 B. Nfhf;f]; epA+rp/nguh  -  2. njd;id 
 C. Nfhh;bak; gy;Nfh;     -  3. ghh;yp 
 d. /igf]; f;shkNul;lh  -  4. Njhirf;fha; 
 
 



 

 

167. Consider the following kings 
 1. Bimbisara  2. Prasenjit  3. Ajathasatru 
 Who Among the Kings/King were contemporary of Gautama Buddha 
 a) 1 only  b) 1 & 2  c) 1 & 3  d) All 
 ,th;fspy; ahh; Gj;jNuhL rkfhyj;jth;fs; 
 1. gpk;gprhuh;  2. gpuhrd;[pj;  3. m[hjrj;U 
 a) 1 kl;Lk;  b) 1 kw;Wk; 2 c) 1 kw;Wk; 3 d) midj;Jk; 
 
168. Which of the following statements are true about the Governor of state? 
 1) The executive power of the state is vested in him. 
 2) He must have attained 35 years of age. 
 3) He holds office during the pleasure of the President. 
 4) The grounds for his removal are laid down in the Constitution. 
 a) 1, 2 & 4  b) 1, 2 & 3  c) 1, 3 & 4  d) 1, 2, 3 & 4 
 khepy MSeh; Fwpj;j gpd;ttUk; $w;Wf;fSs; rhpahdit vitnad 
 fz;lwp 
 1. khepyj;jpy;> nray;gLj;Jk; mjpfhuj;ij epiyahf ngw;wpUf;fpwhh; 
 2. 35 taJ epiwe;jtuhf ,Uf;fpwhh; 
 3. FbauRj; jiythpd; tpUg;gj;jpw;Nfw;g gjtpf;fhyj;ijg; 
 ngw;wpUf;fpwhh; 
 4. gjtpapypUe;J ePf;fk; nra;ag;gLtjw;fhd topKiwfs; 
 murpayikg;Gr; rl;lj;jpy; tiuaWf;fg;gl;Ls;sJ.  
 a) 1, 2 & 4  b) 1, 2 & 3  c) 1, 3 & 4  d) 1, 2, 3 & 4  
 
169. Match List-I with List-II and select the correct answer using the code given 
 below the lists: 
 List – I      List-II 
 (Cities and Towns)   - (NH Roads) 
 a) Madurai – Rameswaram  - 1. NH – 1 
 b) Varanasi – Kanyakumari  - 2. NH – 2 
 c) Delhi – Kolkata   - 3. NH – 7 
 d) New Delhi – Amritsar  - 4. NH – 49 
 a) 4 2 3 1  b) 2 1 4 3  c) 4 3 2 1  d) 1 2 3 4 
 nghUj;Jf: 
 gl;bay;-I     gl;bay;-II 
 (efuq;fs; kw;Wk; Ch;fs;)   (Njrpa neLQ;rhiyfs;) 
 a) kJiu - uhNk];tuk;  -- 1. NH – 1 
 b) thuzhrp - fd;dpahFkhp -- 2. NH – 2 
 b) nly;yp - nfhy;fj;jh  -- 3. NH – 7 
 c) GJnly;yp - mkph;jru]; -- 4. NH – 49 
 a) 4 2 3 1  b) 2 1 4 3  c) 4 3 2 1  d) 1 2 3 4 
 



 

 

170. When a body starts from rest, the acceleration of the body after 2 seconds is 
 ___________ of its displacement 
 a) half  b) twice c) Four times  d) one-fourth 
 nghUs; xd;W Xa;T epiyapypUe;J ,aq;f njhlq;FfpwJ. ,uz;L 
 tpdhbfSf;Fg; gpd;dh; nghUs; milAk; KLf;fkhdJ. mjd; 
 ,lg;ngah;r;rpiag; Nghy _____________ klq;F MFk;. 
 a) miu  b) ,uz;L  c) ehd;F  d) fhy;gFjp 
 
171. Which is the bridge of Nerve Fibres that connects the lobes of the 
 cerebellum? 
 a) Mid brain  b) Medulla Oblongata c) Pons d) Hind brain 
 rpW%isapd; fJg;Gf;fis ,izf;Fk; euk;G ehhpiog;ghyk; vd;gJ 
 vJ? 
 a) rpW%is  b) KFsk;  c) ghd;];  d) gpd;%is 
 

172. Which of the following cities is the host for the 103rd Indian Science 
 Conference? 
 a) Vishakhapatnam b) Allahabad  c) Mysore d) Ahamedabad  
 103-tJ ,e;jpa mwptpay; khehL fPo;fz;l efuq;fspy; vq;F 
 eilngw;wJ 
 a) tprhfg;gl;bdk; b) myfhghj;   c) ikR+h; d) mfkjhghj; 
 
173. The duplicate of ‘A’ Register available at 
 a) VAO Office  b) Taluk Office c) Collectorate d) Archieves 
 ‘m’ gjpNtl;bd; gpujp NtW vq;F ,Uf;Fk;? 
 a) fpuhkeph;thf mYtyfk;   b) tl;lhl;rpah; mYtyfk; 
 c) khtl;l Ml;rpah; mYtyfk;   d) muR Mtzf; fhg;gfk; 
 
174. Select the answer from the given options : 
 The Indian economy is characterised by 
 1. Predominance of agriculture   2. Predominance of Industry 
 3. Low percaptia income    4. Massive unemployment 
 a) 1 and 2 only b) 1, 2 & 3 only c) 2, 3 & 4 only d) 1, 3 & 4 only 
 fPo;tUtdtw;wpypUe;J gjpiy Njh;e;njLf;fTk;. 
 ,e;jpag; nghUshjhuj;jpd; mbg;gil ,ay;Gfs; 
 1. Ntshz;ikapy; Kjd;ikj;Jiw 2. njhopy;Jiwapy; Kjd;ik 
 3. Fiwe;j jyh tUkhdk;  4. mjpf msT Ntiyapd;ik 
 a) 1 & 2 kl;Lk;    b) 1> 2 & 3 kl;Lk; 
 c) 2> 3 & 4 kl;Lk;    d) 1> 3 & 4 kl;Lk; 
 
175. An acid converts 
 a) red litmus into blue   b) blue litmus into red  
 c)no action on litmus   d) blue litmus into colourless 



 

 

 mkpykhdJ 
 a) rptg;G ypl;ki] Cjhthf khw;WfpwJ 
 b) ePy ypl;ki] rptg;ghf khw;WfpwJ 
 c) ypl;k]; kPJ xU khw;wKk; nra;tjpy;iy 
 d) ePy ypl;ki] epwkw;wjhf khw;WfpwJ 
 
176. Match the following:- 
 Events      Place 
 a) Birth of Buddha  -- 1. Budh Gaya 
 b) Enlightenment  -- 2. Lumbini Garden 
 c) First Serman  -- 3. Kushi Nagar 
 d) Death of Buddha  -- 4. Saranath 
 a) 2 1 4 3  b) 2 4 1 3  c) 3 1 4 2  d) 3 4 1 2 
 nghUj;Jf. 
 epfo;r;rp   --  ,lk; 
 a) Gj;jh; gpwg;G  -- 1. Gj;j fah 
 b) Qhdk; miljy; -- 2. Yk;gpdp tdk; 
 c) Kjy; nrhw;nghopT -- 3. F~pefuh 
 d) Gj;jh; ,wg;G  -- 4. rhuhehj; 
 a) 2 1 4 3  b) 2 4 1 3  c) 3 1 4 2  d) 3 4 1 2 
 

177. Assertion: The members of All-India Services can give independent and 
 impartial advise to political executives in the states. 
 Reason:     They enjoy constitutional safeguards with regard to security of  
   service. 
 a) Both A and R are true and R is the correct explanation of A. 
 b) Both A and R are true but R is not the correct explanation of A. 
 c) A is true but R is false. 
 d) A is false but R is true. 
 gpd;tUk; $w;Wfis Ma;e;J rhpahd tpiliaj; Njh;f. 
 $w;W (A): mfpy ,e;jpag; gzpapy; cs;sth;fs; khepyj;jpd; murpay; 
   jiyikfSf;Fj; Njitahd ghugl;rkw;w kw;Wk;   
   Rje;jpukhd tifapy; mwpTiu toq;f ,aYk; 
 fhuzk; (R) : mth;fs; gzp rhh;e;j ghJfhg;G tpjpfis    
   murpayikg;gpd; %ykhf ngw;wpUf;fpd;wdh; 
 a) $w;W (A) kw;Wk; fhuzk; (R) ,uz;Lk; rhpahdit. NkYk; fhuzk; 
   $w;Wf;fhd rhpahd tpsf;fk; MFk;. 
 b) $w;W (A) kw;Wk; fhuzk; (R) ,uz;Lk; rhpahdit. Mdhy; fhuzk; 
   $w;Wf;fhd rhpahd tpsf;fk; my;y. 
 c) $w;W (A) rhpahdJ. Mdhy; fhuzk; (R) jtwhdJ 
 d) $w;W (A) jtwhdJ. Mdhy; fhuzk; (R) rhpahdJ 
 



 

 

178. Tsunamis are produced by 
 a) Tides     b) Cyclones 
 b) Sub marine earthquakes   c) Shrinking of the earth’s crust 
 \Rdhkp| cUthtjd; fhuzk; 
 a) Xjq;fs; 
 b) Gay;fs; 
 c) flybg; gug;gpy; epfOk; epy mjph;Tfs; 
 d) g+kpapd; NkNyhL RUq;FtJ 
 
179. Buoyant Force acting on an object is equal to the ___________ 
 a) Mass of liquid    b) Weight of liquid 
 c) Weight of water displaced by object d) Mass of water displaced by object 
 nghUspd; kPJ nray;gLk; kpjg;G tpirahdJ __________ f;F rkk;. 
 a) jputg;nghUspd; epiw 
 b) jputg;nghUspd; vil  
 c) jplg;nghUshy; ntspNaw;wg;gLk; jputj;jpd; vil 
 d) jplg;nghUshy; ntspNaw;wg;gLk; jputj;jpd; epiw 
 
180. Who of the following conferred with 2015 Sangit Kalanithi Award? 
 a) Sudha Ragunathan  b) Trichur Ramachandran 
 c) Sanjay Subramaniyam  d) T. V. Gopalakrishnan 
 2015-k; Mz;bd; rq;fPj fyhepjp tpUJ ahUf;F toq;fg;gl;lJ? 
 a) Rjh uFehjd;      b) jpUr;#h;; uhkr;re;jpud; 
 c) rQ;ra; Rg;ukzpak;     d) b.tp. Nfhghy fpU\;zd; 
 
181. Analyze the following statements: 
 Statement I : The bail amount for the post of VAO is Rs. 2000/- 
 Statement II : This bail amount should be deposited in post office with in one 
   month from the date of joining 
 Statement III : This bail amount should not refunded 
 a) All are wrong    b) Only I is wrong 
 c) Only II is wrong    d) Only III is wrong 
 gpd;tUk; $w;Wf;fis Ma;f 
 $w;W I:- fpuhk eph;thf mYtyh; gjtpf;fhd gpizj;njhif & 2000/- 
  MFk; 
 $w;W II:- ,e;j gpizj;njhifapid gzpapy; Nrh;e;j ehs; Kjy; xU 
  khjj;jpw;Fs; mQ;ry; mYtyfj;jpd; itg;Gj;njhifahf  
  nrYj;jg;gl Ntz;Lk; 
 $w;W III:- ,g;gpizj; njhif jpUk;g mspf;fg;glkhl;lhJ 
 a) midj;Jk; jtwhdit  b) I kl;Lk; jtwhdJ 
 c) II kl;Lk; jtwhdJ    d) III kl;Lk; jtwhdJ 
 



 

 

 

182. Disposable income = Personal income ............... 
 a) Personal taxes    b) Depreciation 
 c) Indirect taxes    d) Corporate taxes 
 nrytplj; jFjpahd jdpkdpj tUkhdk; = jdpkdpj tUkhdk; - .......... 
 a) jdp thp b) Nja;khdk; c) kiwKfthpfs; d) epWtdq;fspd; thp 
 
183. Match the following: 
 Vitamins  Diseases 
 a) B1  - 1. Rickets 

 b) B5  - 2. Pernicious Anaemia 

 c) B12  - 3. Pellagra 

 d) D  - 4. Beriberi 
 a) 4 3 2 1  b) 3 4 2 1  c) 1 2 3 4  d) 2 1 3 4 
 nghUj;Jf 
 A. itl;lkpd; B1 - 1) hpf;nfl;]; 

 B. itl;lkpd; B5 - 2) ngh;dPrpa]; mdpkpah 

 C. itl;lkpd; B12 - 3) ngy;yhfuh 

 D. itl;lkpd; D  - 4) nghpnghp 
 a) 4 3 2 1  b) 3 4 2 1  c) 1 2 3 4  d) 2 1 3 4 
 
184. Choose the correct mirror image from the alternatives a, b, c and d of the 
 question  
 gpd;tUk; glj;jpw;fhd fz;zhb gpujpgpk;gg; glj;ijj; Njh;e;njL 
  
 
  
  

 
 
 
 

 
 
  
 
 
 
 
 



 

 

 
185. The gas used to artificial ripening of green fruits is 
 a) Carbon dioxide  b)  Ethylene  c) Ethane d) Hydrogen 
 nraw;if Kiwapy; goq;fis gOf;f itf;fg; gad;gLk; thA 
 a) fhh;gd;-il-Mf;i]L   b) vj;jpypd; 
 c) <j;Njd;     d) i`l;u[d; 
 
186. Match the following: 
 Vedic Name    River 
 a) Vitata   -- 1. Ravi 
 b) Asikini   -- 2. Chenab 
 c) Parushini   -- 3. Jhelum 
 d) Sutraudi   -- 4. Beas 
 e) Thippas   -- 5. Sutlej 
 a) 5 4 2 3 1  b) 3 2 1 54  c) 1 3 4 52  d) 3 2 5 14 
 nghUj;Jf:- 
 Ntjj;jpy; cs;s ngah;  MW 
 a) tpjj;jh   -- 1. uhtp 
 b) m~pfpdp   -- 2. nrdhg; 
 c) gU~pdp   -- 3. [Pyk; 
 d) #j;ujp   -- 4. gpah]; 
 e) jpg;gh];   -- 5. rl;y[; 
 a) 5 4 2 3 1 b) 3 2 1 5 4 c) 1 3 4 5 2 d) 3 2 5 1 4 
 
187. Planning Commission was set up on the recommendation of: 
 a) National Planning Committee   b) Gorwala Report 
 c) Planning Advisory Board    d) Constituent Assembly 
 fPo;f;fhZk; ve;jg; ghpe;Jiuapd;gb jpl;lf;FO cUthf;fg;gl;lJ? 
 a) Njrpa jpl;l nraw;FO   b) Nfhh;thyh FO 
 c) jpl;l MNyhrid thhpak;   d) rl;lkd;wg; Nguit 
 
188. Which one of the following states recorded the lowest population density in 
 India at 2011 census? 
 a) Sikkim b) Nagaland  c) Mizoram  d) Arunachal Pradesh 
 2011-k; Mz;bd; kf;fs; njhif fzf;nfLg;gpd;gb ,e;jpahtpy; ve;j 
 khepyk; kpff;Fiwe;j kf;fs; mlh;j;jpiaf; nfhz;bUe;jJ? 
 a) rpf;fpk; b) ehfhyhe;J c) kpNrhuk; d) mUzhr;ry gpuNjrk; 
 
189. The Atomic number of natural radioactive element is ___________ 
 a) Greater than 82 b) Less than 82 c) Not defined d) Atleast 92 
 ,aw;if fjphpaf;fj;ij jdpkj;jpd; mZ vz; _____________  

 a) 82-I tpl mjpfk;      b) 82-I tplf;FiwT  



 

 

 c) tiuaWf;fg;gltpy;iy    d) Fiwe;jJ 92. 
 
190. Who of the following has been named as BCCI Cricketer of the year 2015? 
 a) Rohit Sharma    b) Ravichandran Ashwin 
 c) Virat Kohli     d) M. S. Dhoni 
 2015 - Mk; Mz;bd; BCCI  rpwe;j  fphpf;nfl; tPuh; vd;w ngaiu ngw;wth; 
 ahh;? 
 a) Nuhfpj; rh;kh   b) utpr;re;jpuh m];tpd; 
 c) tPuhl; Nfhyp   d) vk; v]; Njhdp 
 
191. In which year the Village Assistant Post was created? 
 a) 1993  b) 1995  c) 1996  d) 1998 
 
 fpuhk cjtpahsh; vd;w gzp ve;j Mz;by; Njhw;Wtpf;fg;gl;lJ? 
 a) 1993  b) 1995  c) 1996  d) 1998 
 
192. Find the odd term out : 
 a) Life Insurance Corporation of India (LIC) 
 b) Industrial Finance Corporation of India (IFCI) 
 c) Unit Trust of India (UTI) 
 d) General Insurance Corporation of India (GIC) 
 gpd;tUtdtw;Ws; nghUe;jhjij Rl;bf;fhl;Lf. 
 a) ,e;jpa MAs; fhg;gPl;L fofk;(LIC) 
 b) ,e;jpa njhopy; epjpf; fofk; (IFCI) 
 c) a+dpl; bu];l; Mg; ,e;jpah (UTI) 
 d) ,e;jpa nghJf; fhg;gPl;Lf; fofk; (GIC) 
 
193. Find out the missing number in the following 
 tpLgl;l vz;izf; fz;lwp. 
 
  
  
 
 
 
 21 24 36 
    11  14 12 
      3    ? 4 
    77  112 105 

 a) 2   b) 4   c) 3   d) 5 
 
 

21 24 36 
11 14 12 
3 ? 4 
77 112 105 



 

 

194 A primary alchohol has the general formula 

 R’  R’  H 

  

 

      A) R- C-OH b)  R – C-OH c )  R-C-OH  d) R-C = 0 

  

   

 H  R”   H                       H 
 Xhpiza My;f`hypd; nghJthd tha;g;ghL 
 R’  R’  H 
 
      a) R- C-OH b)  R – C-OH c )  R-C-OH  d) R-C = 0 
    
 H  R”   H                       H 
 
195. Analyse and find the incorrect statement: 
 (i) : Steriods are the derivatives of Lipids. 
 (ii) : Stem cell have the potentiality of growing and multiplying into an 
 enormous number of the same type  of cells by repeated Mitosis. 
 a) I  only b) II only   c) I and II  d) None of these 
 $w;iw Muha;f: (jtwhd $w;W) 
 I) ];Buha;Lfs; ypg;gpLfspypUe;J ngwg;gl;litahFk; 
 II) %yr;nry;fs; vd;gJ khWghL milahj nry;FOkkhFk; ,it 
 ikl;lhrp]; 
    Kiwapy; gpsTw;W kpf mjpf nry;fis cUthf;FfpwJ. 
 a) I kl;Lk;  b) II kl;Lk; c) I kw;Wk; II k; d) vJTkpy;iy 
 

 Directions (196-200): Study the table carefully and answer the given 
 questions. 
  
 196 Kjy; 200 tiu : Nfs;tpf;Fhpa tpilia gpd;tUk; ml;ltizia 
 ftdkhf  ghprPypj;J Njh;e;njLf;fTk; 
  
 Given below are the Number of pages printed by 6 printers in 5 different 
 weeks. 
  
 5 NtWgl;l thuq;fspy; 6 mr;rfq;fspy; mr;rplg;gl;l gf;fq;fspd; 
 vz;zpf;if fPNo  ml;ltizapy; jug;gl;Ls;sJ. 
 
 
 
 



 

 

  

 

196. What is the respective ratio between the number of pages printed by printer 

 B in 2nd  week and  the number of pages printed by printer F in 5th week? 
 a) 4 : 9   b) 11 : 13  c) 9 : 13  d) 7 : 11 
 \B| mr;rfj;jpy; 2-tJ thuj;jpy; mr;rplg;gl;l gf;fq;fSf;Fk; \F\ 
 mr;rfj;jpy; 5-tJ  thuj;jpy; mr;rplg;gl;l gf;fq;fSf;Fk; ,ilNaahd 
 tpfpjk; vt;tsT? 
 a) 4 : 9   b) 11 : 13  c) 9 : 13  d) 7 : 11 
 
197. What is the average number of pages printed by all the given printers in the 

 4th week 
 a) 375   b) 425   c) 415   d) 430 
 ,e;j midj;J mr;rfq;fspypUe;Jk; 4-tJ thuj;jpy; mr;rplg;gl;l 
 gf;fq;fspd; ruhrhp mstpidf; fhz;f. 
 a) 375   b) 425   c) 415   d) 430 
 
198. Which of the following printer printed maximum number of pages in all the 
 given  weeks together 
 a) Printer A  b) Printer E  c) Printer D  d) Printer C 
 nfhLf;fg;gl;Ls;s mr;rfq;fspy; midj;J thuq;fspYk; kpf mjpfkhd 
 gf;fq;fis mr;rpl;l mr;rfk; vJ? 
 a) mr;rfk; A b) mr;rfk; E c) mr;rfk; D d) mr;rfk; C 
  

199. Number of pages printed by printer A in 3rd week is what % of the total 
 number of pages printed by printer D in all the weeks? 
 a) 22   b) 18   c) 12   d) 16 
 A mr;rfj;jpy; 3-tJ thuj;jpy; mr;rpl;g;gl;l gf;fq;fspd; 
 vz;zpf;ifahdJ> midj;J thuq;fspYk; D mr;rfj;jpy; mr;rplg;gl;l 
 gf;fq;fspd; nkhj;j vz;zpf;ifapy; vj;jid rjtPjkhf ,Uf;fpwJ? 
 a) 22   b) 18   c) 12   d) 16 
  

Printer / Week 

mr;rfk;/thuk 

A B C D E F 

1st 664 618 628 552 638 419 

2nd 569 441 519 438 621 537 

3rd 440 614 503 527 541 742 

4th 256 563 347 651 412 321 

5th 717 429 598 582 519 693 



 

 

200. What is the difference between the total number of pages printed by printer 

 E in 1st,  2nd, and 4th week together and total number of pages printed by 
 printer C in all the given weeks together 
 a) 952   b) 878   c) 924   d) 934 
 E mr;rfj;jpy; KjyhtJ ,uz;lhtJ kw;Wk; ehd;fhtJ thuq;fspy; 
 mr;rplg;gl;l gf;fq;fspd; nkhj;j vz;zpf;iff;Fk; C mr;rfj;jpy; 
 midj;J thuq;fspYk; Nrh;j;J mr;rplg;gl;l nkhj;j vz;zpf;iff;Fk; 
 ,ilNaahd NtWghL vt;tsT? 
 a) 952   b) 878   c) 924   d) 934 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 



 

 

 
Answer Key 
 

 
  
 
 
 
  
 
 
 
 

1. b 2. b 3. d 4. b 5. d 6. b 7. d 8. c 9. a 10. a 
11. c 12. b 13. c 14. a 15. a 16. d 17. b 18. c 19. d 20. b 

21. d 22. c 23. d 24. a 25. a 26. b 27. b 28. a 29. a 30. a 

31. b 32. a 33. b 34. c 35. b 36. a 37. b 38. d 39. b 40. c 
41. c 42. b 43. d 44. a 45. b 46. d 47. d 48. d 49. b 50. c 

51. a 52. c 53. c 54. c 55. b 56. d 57. a 58. a 59. b 60. a 
61. a 62. c 63. c 64. c 65. c 66. c 67. c 68. b 69. b 70. a 

71. d 72. c 73. a 74. b 75. c 76. c 77. c 78. b 79. a 80. d 

81. c 82. a 83. a 84. a 85. d 86. a 87. b 88. b 89. d 90. a 
91. c 92. c 93. c 94. b 95. c 96. d 97. d 98. b 99. d 100. d 

101. c 102. c 103. b 104. c 105. a 106. b 107. a 108. a 109. a 110. b 
111. b 112. a 113. c 114. d 115. a 116. c 117. c 118. a 119. d 120. b 

121. b 122. b 123. c 124. c 125. a 126. c 127. d 128. c 129. a 130. a 
131. d 132. a 133. b 134. b 135. d 136. b 137. b 138. d 139. c 140. a 

141. d 142. b 143. b 144. b 145. b 146. c 147. a 148. d 149. d 150. c 

151. a 152. a 153. b 154. d 155. c 156. c 157. b 158. c 159. d 160. b 
161. b 162. b 163. c 164. a 165. d 166. d 167. d 168. b 169. c 170. c 

171. c 172. c 173. b 174. d 175. b 176. a 177. a 178. b 179. b 180. c 
181. d 182. a 183. a 184. c 185. b 186. b 187. c 188. d 189. a 190. c 

191. b 192. b 193. c 194. c 195. d 196. d 197. b 198. c 199. d 200. c 


